ANGA 5l R

BHTHITRY : 9T =HD

5] EB 5 ¢

MA —

— | 20X 60—25| —

J

REX{TIE-F/ETE

: o RR BER®:

8: Ex8
LB &: BIREET
FA  #: GIBEERN

MA : RESBX{RE—EE)E
MAG : FEsE (T — EEE &

RS :
A& (mm) 16 | 20 | 25 | 32 | 40
{EEP R TV # 7 &
=P ] z A
BEAR FAR LBAY HAR
BB NEBE kgf/cm? 0.4~9.0
(REEMMEN  kaf/cm? 13.5
HEEHE C 0~70
FHREESHE mm/s 30~ 800
EEA = ORNEF
BEOE M5*0.8 G1/8
RETE
R (mm) TR BRARTIE B 0E
16 25 50 75 100 125 150 150 200
20 25 50 75 100 125 150 175 200 200 300
25 25 50 75 100 125 150 175 200 225 250 250 300
32 25 50 75 100 125 150 175 200 225 250 250 300
40 25 50 75 100 125 150 175 200 225 250 250 300




EXRBRY :

. ¢ 16~ ¢ 40
AHTEX2HHERITE
B CHTRE
E e G 7
AY M
e | H G/2 2-X G/2
J |-- =" J|
| [~ | ®
~ g (I
i ¥
§ 1 2 -4 4
— >
3 ﬁl_t' -
«/ w (10) EERG(RER) T+ERTE
AEIE
prEvas |l A (Bl lE|lFla |l E| 1] 4 K L M | T|Uu]|vVv|w]|x/|ar]|ax][ay
16 B9 | 38 22 16 10 16 10 & MEX 1 M16X 15 ¥ | 2 | 23 6 5 M5 6 25 |22
20 153 | 40 | 76 | 28 12 16 20 13 5 M8X 125 M22X15 10 | 20 27 8 6 |Gi/B| 7 33128
25 160 | 44 76 30 u 16 22 T 6 M10X 125 M22X15 2 20 30 10 8 |Gi/8| 7 33 29
32 160 | 44 | 76 | 30 u 16 22 17 6 M10X 125 M24X2.0 12 20 | 35 12 10 |G1/8| 8 37 | 32
40 163 | 46 | 76 32 4 16 24 19 7 M12X1.25 M30X2.0 2 20 | 42 16 4 |Gi/B| 9 47 a1




